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Q341. The polymer used in making plastic crockery is?

TRATECh T ShIehT Salel 3 Tl SEoleh & ?
A. Decron /3?!?1'
B. Nylon /ATIeltel
C. Bakelite /ShdSe
D. Melamine /IﬁlﬂTFl'IB?T

Melamine-formaldehyde resin or melamine is used in the manufacture of plastic crockery.
Melamine resin or melamine formaldehyde (also shortened to melamine) is a hard, thermosetting plastic
material made from melamine and formaldehyde by polymerization.

CATTEC e ShIhLT oh TIHTOT H FeITHTSA- BT Te38183 el T HATHTS T 3TN R ST |
HATHTS el IT HATHTSS BIHATSEISS (RATHTSH bt over i) fFam S1ar §) Teh woR, gAfafdar
cornfEee el § S ATHTS 3R BIACISERS & TelFIgo12le GaRT SeTs STl ¢ |

Q342. Percentage of carbon in steel ranges from?

TEST H FIeeT T ITard FETJ glarg?
A. 0.1tol5
B. 1.5t03.0
C. 3.0t04.0
D. 4.0t06.0

Steel is an alloy of iron and carbon, along with small amounts of other alloying elements or residual
elements as well. The plain iron-carbon alloys (Steel) contain 0.002 - 2.1% by weight carbon. For most of
the materials, it varies from 0.1-1.5%.
There are 3 types of plain carbon steel:

o Low-carbon steels: Carbon content in the range of < 0.3%

o Medium carbon steels: Carbon content in the range of 0.3 — 0.6%.

o High-carbon steels: Carbon content in the range of 0.6 — 1.4%.

TVl Al 3R HIeTaT b1 Uk TS 1] 8, W 8Y 31 T €1 cieall AT 3raflise deal & 418 AT & ||
HIeT olig-shreleT TR eTe] (FETeT) 7 TR SIdeT G@RT 0.002 - 2.1% B1ll & | 37T&ehier QAT & fow, g 0.1-
1.5% ¥ =T gar 8|
T FeT T 3 YRR S gld &

o HH P TEH: <0.3% T TIAT H et ATHIAT

o HEIH FHleeT TEed: 0.3 - 0.6% T TIAT 3 FHeeT AT |

o 3TT HIA TEIoH: FHIes] AT 0.6 - 1.4% T AT H|

Q343. Water is not effective in extinguishing a fire caused by petrol because?

USTST W o2l 37T T JSHT F UTell HRIR 761 & FAlTeh?

o0 » P

The flame is too hot for water to cool it down /WWW%%W&TH@WW
Water and petrol react chemically mmmmmﬁmm%‘
Water and petrol are miscible with each other /AT 3R dagla quzli & ary fAsoia g

Water and petrol are immiscible with each other and Petrol which forms the upper layer continues to

burn /9TeiT 3T AeTer Ueh g A TAAUMN § 3R IStel ST 39 9 ST & I8 STelcll @l &
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e  Water is not effective in extinguishing a fire caused by petrol because water and petrol are immiscible
with each other and petrol which forms the upper layer continues to burn.

e The specific gravity (or relative density) of gasoline ranges from 0.71-0.77 kg/| (719.7 kg/m3) while the
specific gravity of water is 1000 kg/m3 and that is why gasoline or petrol floats on the upper surface of
the water.

e Water cannot generally be used to extinguish a gasoline fire, unless used in a fine mist.

o U @ o3 37T T ST H UTell hRIN 61 & Fioh TTetl IR USTeT Ueh gF oh H1Y A0 § 3N
et ST S IR ST & I8 SToldT BT g

o NETeNeT o faflrse eca (1 3mafaTe geied) 0.71-0.77 fRa/el (719.7 fahan/aet#ier) F M giar g,
Steifeh dreit 7 fafRIse Iréca 1000 feharm/aeraiiex giaT & 3R sEfere Aarelisr a1 dgtel Tl T ot Hcg
RWRATR .

o 37T AR W ULl hT ITATIT ETelleT ShT 1T ohY ST o TIT AET T ST HeeT &, STl ofeh foh 58 Steh &y
H gEaATe o fRar ST |

Q344. Ruby and sapphire are oxides of?
Ao 31 srereT fpaes 3ifararss &2
Copper /<_-|'ITSlT

Tin /ﬁFI'

Iron /F-ﬂ?T

Aluminium /TegfAferas

oo ® >

e Aluminium forms one stable oxide, known by its mineral name corundum.

e Sapphire and ruby are impure corundum contaminated with trace amounts of other metals. Corundum is
a crystalline form of aluminium oxide (Al203) with traces of iron, titanium and chromium.

e |tis arock-forming mineral. It is one of the naturally clear transparent materials, but can have different
colours when impurities are present.

e Transparent specimens are used as gems, called ruby if red and padparadscha if pink-orange. All other
colours are called sapphire, e.g., “green sapphire” for a green specimen.

o TegATATH T [EUT 3ira1SS ST 8, T 58 Wietsl AT HResH & ATH § ST ST g |

o AoH AR ATOTR AU HRESH § S T UTIHT T CH AT A I 81t & | HR=SH olig, TTSeTAas
AR HIfFTs & e & ar TegA e 3iaarss (A1203) & U hecea ¢

*  IE T U Salled dTell WieAof 8 | Tg FTsATiaeh € § TIC IRER Traafl # & Ueh €, olfehet Jr[eferat
& FISIG §1eT TR 3ToTeT-370TeT 137 81 ehel 3 |

o URG AT T UG Teail 3§ H FhIT SITAT 8, T 10T 3R ATl 31N Feoe 2T F[elTel-AArR et
HET ST & | 3= FefY T3 T HTelH gl ST &, 3eTI0T o ToIT, g T3T & 77 o foIT "1 e |

Q345. Dry powder fire extinguishers contain?

Qs T[0T HTTeTATHE F gIeil &7
A. Sand Rd
B. Sand and sodium carbonate /Tasﬂta’rf?m?maﬁz
C. Sand and potassium carbonate /i?fﬁ?qﬁﬁmaﬂaﬁ'd
D. Sand and sodium bicarbonate /waﬂim%uwamaﬁt
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Dry powder fire extinguishers contain Sand and sodium bicarbonate.

s 3T ITAHS H I 3R WfTH saheiae gid g1

Q346. Cement is formed by strongly heating a mixture of

AT & TAHOT Y AT & 713 el I &

o 0 w @

Limestone and graphite /ﬂ@TFWI&ﬂTW
Limestone and clay /@TWWW@T&
Chalk and graphite /ﬂﬁTWﬂ'\"lﬂﬂTm@a

Clay and graphite /ﬁ?\aﬁhm

Cement is made by heating limestone (calcium carbonate) with small quantities of other materials (such
as clay) to 1450 degree Cin a kiln, in a process known as calcination, whereby a molecule of carbon
dioxide is liberated from the calcium carbonate to form calcium oxide, or quicklime, which is then blended
with the other materials that have been included in the mix.

The resulting hard substance, called ‘clinker’, is then ground with a small amount of gypsum into a
powder to make ‘Ordinary Portland Cement’, the most commonly used type of cement (often referred to
as OPC).

Portland cement is a basic ingredient of concrete, mortar and most non-specialty grout. The most
common use for Portland cement is in the production of concrete.

AT YU (HTeAIH Freifeic) i 3 AT (S TACE) T BIET AT & A1 1450 3l Afcwad oo
T ¥ HHE TART SATAT &, TRl ot 2rel & & H ST ST &, ToH S STS3HTFASS T Ueh 30T
HieeraH Frafee @ Forc g1 Fo1cll & | HiewraH ierarss, a1 fFashers, o aTe # 3w amafaai &
arer AT forar sirar & e [T & enfe frar s g1

gROTHY F3R gers, o [Tl gl SITaT &, Y 'JTIRT Gices @A s & foIv 9133 & Ay ATar
# focas & @y 9ig ar ST g, i1 ATHAAR IR SEAATS TohaT ST aTell TIHT T IR & (o 3R
I FETSATATR) |

diéels Hiee sehie, AT 3R wed R-fafrse ar3e &1 v et uee § | idols Hivfe & wad 3mA
3TN Fhic & 3T H gidT 2|

Q347. The BOD values of water indicate the

UT=AT T BOD AT &TT &
A. Amount of organic debris /ﬂéﬁ?ﬂﬂaaﬁfﬂm
B. Amount of oxygen used for biochemical oxidation /%WWW*%UWW@
HTET
Amount of oxygen used for biochemical reduction /@armmﬁ%ma:ﬁvqgaﬂmﬁﬂm
Amount of ozone used for biochemical oxidation /%WW*WWW@TW

Biochemical oxygen demand or B.0.D. is the amount of dissolved oxygen needed by aerobic biological
organisms in a body of water to break down organic material present in a given water sample at certain
temperature over a specific time period.

The term also refers to a chemical procedure for determining this amount.

This is not a precise quantitative test, although it is widely used as an indication of the organic quality of
water.
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The BOD value is most commonly expressed in milligrams of oxygen consumed per litre of sample during
5 days of incubation at 20 degree C and is often used as a robust surrogate of the degree of organic
pollution of water.

AR AT HTFHTSTeT SATS AT &1 3.3Y. UTell & R 7 Wifde Sifdes Sial garT ues faferse aa
3rafetr 7 e AT W T 7T Irelt & Ao & His[g Hrafores Terif 1 dise & ferw sraeass giod
ST ST AT

g 2Tse, 39 TR & AR ot & forw v trarafaes ufshar & off Tefia axarg|

g Teh GEIh HATATcH TIETUT LT 8, §leliich SHehT 419 & § UTeT hY Sifeh IOTET oh Hevel o & &
3T fRaT ST §

3N AT AR T 20 B AfcaTdT N FSAR & 5 & 3 gt 9fa efex o3 7 @ua sitedert
& TReNaTH # cgrerd Taram STTdT § 3R 31 a1elt o Sifdes Jeuor 1 f3af & Ueh AT auee & ®9
3T foRaT ST R

Q348. Hypokalemia is caused by the deficiency of

ETSUIh AT fhHhT Y F HRUTEIATE?
A. lodine /3TN
B. Potassium /Eﬁé'f‘ﬂ'qﬂ
C. Iron /?»ﬂ?T
D. Calcium /&

Low potassium, or potassium deficiency, is when your blood potassium level is below 3.5 mmol per liter.
In the medical community, it's known as hypokalemia ( 1, 2 ). Potassium is an essential mineral that has
many roles in your body.

F Qe fRTH, a1 IR RITH H FelY, a9 gl § I 39k T H NeEfRAIA 1 &R 3.5 AT ufa elexr &
oA grar § | Rfehear THer &, S8 gRNHTATAAT (1, 2) & T H ST ST § | NFATH Teh 3raegh
Gferst & foreehr 3maes eiR 7 & eifAenml £

Q349. Which force helps swimmers float in water?

SieT GT T TPT T ITeiT H el H FgIAT hidT g ?

o 0N » >z

Muscular Force/ ATEURNT 1
Frictional Force/Eré'UTW
Buoyant Force/ 3cCellde] sTel
Magnetic Force/ ﬂﬁiﬁlﬂaﬂ'

The buoyant force from water and the pull of gravity determines how an individual floats. It varies
considerably between swimmers.

T @ Sccarde dof 3R Scareyor &1 Eara ag FeiRa a5 § o Fig saferd a4 Rar g1 g et
& drer T =T gl B |

Q350. Which element has the symbol Sb ?
TRE dcd T UdTeh Sb 87
A. Arsenic /3T8fa®
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B. Antimony /UETHs

C. Lead /T\ﬂ'é'

D. Seaborgium /A& TH
Sol-
e Antimony has the symbol Sb.
e Arsenic has the symbol As.
e Lead has the symbol Pb.
e Seaborgium has the symbol Sg.

o TEHA FHT Uciieh Sb &

o 3 I TR
o NMSHUNFPbEI

o WA FTINF g &l

Q351. The atomic mass of sodium is 23. The number of moles in 46g of sodium is

TISTH T TRATY SHTA 23 B | 46 ATH FITSTH & Hel hT H&T gl
A 4
B. 2
C. o
D. %
Sol-

e  Molar mass of sodium =23

e The given mass of sodium =46

e Hence, total number of moles = Molar mass / Mass
e =23/46=2

o  TIfSTH &7 AT gTATT =23
o TfsTs & fer IraT gegAT =46

o 37dT: Alell Y ol HEAT = AR GeIHTT / G AT
e =23/46=2

Q352. The value of 1 Kilowatt power in terms of horse power will be-

3RaRITerd I gfSe A 1 feheitare Qe &1 AT g1ar-

A. 1.34HP
B. 746 HP
C. 786HP
D. 4.36HP

Sol-
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1 kilowatt = 1000 watt
1 hp = 746 watt

1
1 watt = 16 hp = 0.00134 hp

1 kilowatt = 1000 watt

1
lowatt — ¥
1 kilowatt 1000 x 746hp

1 kilowatt = 1.34 hp

Q353. Light travelling from vacuum enters water. Which of the following characteristics of light will remain
unchanged?

ﬁﬁa@wwﬁgw&rmﬁqﬁarm%l gehreT T fArafaf@aa & @ SiF @ Avar 3mRafda @

A. velocity /a?T

B. amplitude /3TIATH

C. frequency /3-ﬂ§|_ﬁf

D. wavelength VSECIEAZ

Q354. People add sodium chloride to water while boiling eggs. This is to
FIT 33 3T THT TTeiT 7 AISTH FeR1SS e g | T 5T
decrease the boiling point [FTUATH HH Y

increase the boiling point /&”HWW{T

prevent the breaking of eggs /378 &I digel § Jh

make eggs tasty /313 &I TATGSE FATT

o 0w >

Sol-
e People add sodium chloride to water while boiling eggs. This is to increase the boiling point.

o TN 373 IeTeld THYT U H BISTH FoR1ss AT £ | T§ FIUTTH T Falol & [T g

Q355. In a hypertensive patient, the systolic pressure increased to 150 of Hg. Which part of the brain would be
involved in the regulation of blood pressure?

3T AT § TET W3 H, [Tl ga1a 9geht 150 Hg BY ST & | Idand & adT & Afeasa &1 i a7
1T QM gIIT?

A. Medulla /ﬁgﬂT

B. Cerebrum /HATEISH

C. Cerebellum /HWW

D. Hypothalamus /89 dd

Sol-
o Hypertension is the condition in which the blood pressure of the concerned person is highly elevated.
e The systolic blood pressure increases to 150 mm of Hg.
e The baroreceptors in the heart can detect the change in the blood pressure and send signals to the
medulla oblongata to regulate the pressure.
e The hypertensive situation is controlled by medulla oblongata.
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o 3ITUTEFdAY g Tufa & fowsd gefa cafaa &1 @dany 31cafes 9¢ Jar g |

o AT ey 150 A Toel a% 9¢ ST

Ted A RANAT TFea1d H TRET T Tl o2l Feohel & IR Gara 1 @G T3 otet & forw Agen
siteetater a st sor Ew &

3oa e i Feafa w Agar ifeaiater gar dfya o srar

o 3 R e
ATE
£ ‘N
,

(s }
g 4
o P

Hypertension Complications

)
L A
, 2
Blood vessel damage N -~
(narrow and stiff blood vessel) S
-
Normal vessel / S
[ )/"/
//
Stroke
Heartattack — = /
/ 4\
A
Kidney damage __
&
PN \*
“/ ’r
! E N
N

Q356. The element with atomic number 35 belongs to -
YATOT sheTeh 35 JTell ded Te T ¢ -

9
A. s-block
B. p-block
C. d-block
D. f-block.
Sol-
Bromine in the periodic table
C.)I
o Br

selenium «— bromine — krypton

Atomic number (Z) 35

Group group 17 (halogens)
Period period 4

Block O p-block

Electron [Ar] 3d'0 452 4p®

configuration

Electrons per shell 2, 8,18, 7
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IUPAC Group—=1
Main Group —=1

Period —=1 é;t:;nh\EINumber

-

5]

i

w
ﬁHEEH.‘-

0

—
! |
57 58 59 61 B2 63 B3 67 B9 70 Lanthanoids
La || Ce || Pr Pm [{Sm || Eu Th Ho Tm b
Rare Earth Metals

89 S0 91 952 53 96 97 98 100 01 02
Ac || Th || Pa u Np Cm || Bk || Cf Fm || Md || No | Actinoids

Q357. What should be the core of an electromagnet?
faeg e grdeh &l I T gleTT =1igT?

Soft iron /=T olgT

hard iron /&3 ST

rusted iron /E?TFI?ITFIET

none of above /s?lf-eN}IEFv’Ié' oy AT

oo w >

Sol-
e Core of an electromagnet should be of soft iron and not of steel because soft iron loses all its magnetism
when current in the coil is switched off but steel does not lose its magnetism when the current is stopped.

o TACH Fah 1 h1S 71X cilg T GIeT TIGU o Toh TENST T FiTeh HUsell H fdegcl URT o e gl T

T oI YT HRT Joaehed TN ST g ool URT & Tehot TR ST AT Falehed oTo! TN o |
coll

ron
COore.

Q358. In human eye, the cornea borders with

AT H1@ H, Hifetar S HaAT FHAEIAT G|
A. Sclera /TFRT
A. Choroid /WTB‘S’
B. Retina fe&aAT
C. lris /ﬁ'@'ﬁ'gﬁ?ﬁ'

Sol-
e The cornea is the transparent front part of the eye that covers the iris, pupil, and anterior chamber.
e In humans, the refractive power of the cornea is approximately 43 dioptres
e The corneais made up of cellular and acellular components. The cellular components include the
epithelial cells, keratocytes, and endothelial cells.



G
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The acellular component includes collagen and glycosaminoglycans.

The sclera, or white of the eye, is a protective covering that wraps over most of the eyeball.

It extends from the cornea in the front to the optic nerve in the back.

In human eye, the cornea formed fromThis strong layer of tissue, which is no more than a millimeter
thick, gives your eyeball its white color.

I T T IRE AT HTHA T TGEAT & ST TRATRERT, TeToll IR JdehTer a7 Tl ek T & |

HSET H, I Y JTacTeh ATl I 43 SRATCCIH EIell &

ST HITRADIT 3R IRITRADIT Teehl A TAT &1l & | HeJoll T H ITehell HIAAT, FICTASCH 3R
TEIATRIA HITABIT MfFA § |

37RITAIT T H Flelated 3R TASHIATHAN cligdhed ATTHAT g |

AT, IT 3T T Hihe, 1T, Teh FR&TIcH ITa0T & ST HTRIRIN Aaleleh I ofdecll g |

IE HHA o DI IT & e IS AT 3HTfeeh 7 Toh hell g &

AT 31 H, FcTeh I 36 AT T § Fefel AT hiTer2T, ST Teh fReNHIeT @ 3178 AT A8 g1 &,
3TIRY AT eI T 3HHT TG T AT S |

Episclera P NN

Strom

Lamin
fusca

L — _: .
Endothelium —ree e —=
Choroid— e

a

a =

\ \ /Ccirnea
ens

Iris
//

Q359. The hormone "Ghrelin" is secreted by

Sol-

oo ® >

Wall of the Stomach /9 &1 fafa
Wall of the Intestine /37T T fATRT
Wall of the Esophagus /&€T &1 fAfT
Salivary Glands /IR Ff=r

Ghrelin is a hormone produced by enteroendocrine cells of the gastrointestinal tract, especially the
stomach, and is often called a "hunger hormone" because it increases food intake.
Blood levels of ghrelin are highest before meals when hungry, returning to lower levels after mealtimes.

oo egigcTersad ¢oe, TadT §9 & 9 T UeRIUSIhISe AT GaRT felfaid Teh grA o, 3R 3
ITFER " ETHIA" T AT ¢ FATeh TE HIoTeT T HaeT TGIAT ¢ |
T 9T T AT & Igel Yol T T T STad# 8IdT &, HIoleT & J1G foidel T R dlle 3T g |
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Feeding v
= Insensitivity of GHS-R ? < fEERMN
| = Altered BBB transfer ? ¢ -)).7-/2 }};}\h
& ZA
Hypothalamus ,‘\\(\ AN VTA /accumbens nucleus

Feeding Mghrh > ADA
Motivation/reward ¥

=> less DA in limbic system ?

=> desensitization of DA-GHS-R

heterodimer ?

GH A/ IGF-1¥
=> Insensitivity to GH action ?
=> Defect IGF-1 feedback ?
=> Altered GHS-R function ?

Pituitary gland
Y E*GH

Adipose tissue
AFat mass @)\
WFat oxidation

ver-

| C—— e | 3
Decrease of fat mass Gastric
=> fat oxidation g . GHRELIN _/—> Pancreas
] e 4
A  Gastric motility Regulation of glycemia
A Gastric emptying
A Gastric acid secretion Altered glycemia ?
=> alteration of insulin
Gastric incomfort sensitivity ?

| = altered GOAT action ?
‘ => DAG vs AG shift ?

Q360. Why does a fountain pen leak in aeroplane flying at a height?
FATS W 331 dTel §ATS STETT & BI3sT Ul FAT olieh 81 ST 82
A. Because of reduced viscosity of the ink in the pen /O 7 TITeT Fr Rafarge & g1t & dROT
B. Because of increased viscosity of the ink in the pen /ﬁ?ﬁ@ﬁ@fﬁlﬂﬁ%ﬁﬁ?ﬂ@
C. Because of higher atmospheric pressure outside the pen /W%wma@ﬁ%ﬁuaﬁw%m
D. Because of lower atmospheric pressure outside the pen /%*WWWW%W

Sol-
e As higher altitudes, the pressure decreases.
e The pressure at higher altitudes is comparatively less, so to equalize the pressure difference ink starts
moving out from the pen which has a relatively high pressure.

o SIU-OIH 39S Fedl &, GaTd el BIdT ST ¢ |
o 3T FTS W &I JelollcHb T W HHA T ¢, SHTT GaTd e I SRR el oh Tl T 39 Ued
J e ey oreTeh § Foat 3T 3T qara gl 2



